JAGUAR

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




JAGUAR

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 3 info@parsrot.com




Rot sy

s Land JAGUAR

F-PACE 1st Gen 2015 after

JA-13513  JA-12501 —

o—
T4A12526 T4A12525 -

| |
JA-14506
Z-Rot
}l On
I T4A8238
F-TYPE QQ6 2013 after
| |
JA-14400
= W Z-Rot
- - An
| C2D24220
S-TYPE (0109 ¢ 1999-2008
| |
JA-14400 JA-13403
—— A Z-Rot Rot Mili
1’ i On On
C2D24220 M14x1,5-L208mm
- C2C29620
| |
JA-12401 JA-12402
Rotbasi Rotbasi
ﬂ On Sag On Sol %A
M14x1,5 M14x1,5
C2C8370 C2C8371
| |
. JA-11405 JA-16406
Rotil Rotilli Salincak
On Alt On Alt
XR841215 C2210052 f .
|
JA-14407 JA-14408
§ Z-Rot Z-Rot 1
x Arka Sag Arka Sol /
L=220mm L=220mm
XW4Z5C486AB XW4Z5C487AB &!‘

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



ﬂo[_i
== Land JAGUAR
S-TYPE CCX 1999-2008
|
JA-14410 JA-14404
Z-Rot Torsiyon Burcu
N On Arka
' L=137Tmm v Rg29471*
XR855185
XF X250 2008-2015
| |
JA-13113  JA-12111
" Rot Mili Rotbasi {2
On On Sag
\‘ C2D47149  C275517 &—/
| |
JA-12112 JA-14400
Rotbasgi Z-Rot = W
&/’\I ) On Sol On Y =
- C2725518 C2D24220 L |
XF X250 2009-2015
|
JA-111004 JA-14408
Rotil Z-Rot 1
& On Alt Arka Sol /
- coc2s789  L=220mm
- XW4Z5C487AB &‘
JA-14407 JA-16406
i Z-Rot Rotilli Salincak
\ Arka Sag On Alt
L=220mm 5710052 f-r@
‘» XW4Z5C486AB
1994-1997
JA-11104 JA-11105
Rotil Rotil
On Ust On Alt
CAC9938 JLM1860

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



== Land JAGUAR
XJ 1994-1997
|
JA-12101
@ Rotbasi
& .
On
M14x1,5Rht
JLM9660
XJ 1997-2003
| |
JA-12101 JA-11305
-‘q’ Rotbasi Rotil
On On Alt
M14x1,5Rht 311405371C ‘
JLM9660
| |
JA-13303 JA-11304 -
Rot Mili Rotil
h—— On On Ust
M14x1,5Rht-L=281.2mm MNC1450AA
4E0419821
| .|
— JA-14307
Z-Rot
On
! . L=114mm
; MJA2105AG
XJ X350 2003-2009
| |
JA-111004 JA-16406
Rotil Rotilli Salincak
& On Alt On Alt
° C2C25789  C2Z10052 { .
A —d
|
JA-12402 JA-14407
Rotbasi Z-Rot i
‘!EA On Sol Arka Sag \
' M14x1,5 L=220mm
C2C8371 XW4Z5C486AB '»
JA-14408 JA-12401
y Z-Rot Rotbasg!
/ Arka Sol On Sag
&‘ L=220mm M14x1,5 ﬂ
XW4Z5C487AB C2C8370

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

6

info@parsrot.com



Rot sy

= Land JAGUAR
XJ X351 2010 after
JA-14408 JA-14407
y Z-Rot Z-Rot s
/’ Arka Sol Arka Sag \
«‘ L=220mm L=220mm ﬁ
XW4Z5C487AB XW4Z5C486AB
i JA-12311  JA-12312
\‘_ Rotbasi Rotbasi ‘l‘
On Sag On Sol '
. C2D7778 C2D7779
XJ6 (3LT.) 2003-2009
| |
JA-12401
Rotbasi
On Sag
ﬂ M14x1,5
C2C8370
XJ8 2003-2009
| |
JA-12402
Rotbasi
JEA On Sol
' M14x1,5
C2C8371
XJS 1986-1996
| |
\ JA-11304 JA-11305
Rotil Rotil
On Ust On Alt
MNC1450AA 311405371C *
| |
JA-12201
Rotbasi
On
5/8x18UNFRht
GSJ148

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



V|

parsrot.c

Arka
* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

Rof
= Land JAGUAR
XK X150 2006-2014
|
JA-12112  JA-12111
Rotbasi Rotbasi -
&/\_ ) On Sol On Sag
- C275518  C275517 &_/
| |
JA-13113
Rot Mili
‘ 2
\‘ On
C2D47149
XK X150 2006-2015
|
JA-12402 JA-14407
Rotbasgi Z-Rot K
%A OnSol  Arka Sag \
\ M14x1,5 L=220mm
C2C8371 XW4Z5C486AB '»
JA-14408 JA-12401
y Z-Rot Rotbasg!
/ Arka Sol On Sag
«‘ L=220mm M14x1,5 H
XW4zZ5C487AB C2C8370
XK8 1996-2005
|
JA-12101 JA-11304 .
Rotbasi Rotil
On On Ust
M14x1,5Rht MNC1450AA
JLM9660
.|
JA-14307
Z-Rot
On
L=114mm
MJA2105AG
X-TYPE CF1 2001-2009
JA-14927
Z-Rot

C2S45009

8

5
)
he)
2
w
@
[e]
s
(o)
[o]
3



Rot sy

= Land JAGUAR
X-TYPE CF1 2001-2009
JA-19926 JA-13920
Denge Kolu Rot Mili
# Arka Onig
C2550863 M16x1.5-L=342mm
2X433200AE
|
JA-13923 JA-11924
Rot Mili Rotil
On Arka
M16x1,5-L=336.3mm C25550863
FRC3280DA
|
MB-20414 FO-12951
Salincak Burcu Rotbasi
Arka On &
2203520227 ~ M16x1.5Rht
1S713290BB
| .|
FO-14950 FO-14949
Z-Rot Z-Rot
_ On On ‘éq
Plastic L=250mm Metal L=249mm
5X433B438AA C2526883
| .|
FO-14948 FO-16958N
Z-Rot Rotilsiz Salincak
% Arka  On Sol Alt
Only:SW1,8SFI L=51mm 1311417
1S715C486BE
|
FO-16957N FO-16958
— Rotilsiz Salincak Rotilli Salincak
On Sag Alt On Sol Alt
1311416 1S713051AH
FO-16957 FO-11955
Rotilli Salincak Rotil
On Sag Alt On
1S713042aH ~ D=921mm
C2S19367

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com

info@parsrot.com



Rot m=y
= Land JAGUAR

X-TYPE CF1 2001-2009

FO-2094 FO-2093
A~ Salincak Burcu Salincak Burcu P
OnDig Orta
1S713042AK 1118476

* Bu belgede kullanilan arag marka, model, logo, OEM numaralari, vb. bilgiler referans amach kullaniimistir.

parsrot.com 10 info@parsrot.com






